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Question ID:- 151

Change the following sentence from Active Voice to Passive Voice :
The audience loudly cheered the comedian’s antics.

(1) The antics of the comedian are loudly cheered by the audience.

(2) The comedian’s antics were loudly cheered by the audience.
(3) The comedian’s antics were loudly cheered.
(4) The comedian’s antics have been loudly cheered by the audience.

Options:-

.1, Option ID :- 601,
. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

Change the following sentence from Active Voice to Passive Voice :
Who killed the ferocious tiger ?

(1) The ferocious tiger was killed by whom ?

(2) The ferocious tiger has been killed by whom ?
(3) By whom has the ferocious tiger been killed ?
(4) By whom was the ferocious tiger killed ?
Options:-

.1, Option ID :- 605,

. 2, Option ID :- 606,

. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 1, Option ID : -605

Question ID:- 153



dell
Stamp


Fill in the blank with the correct preposition.

I prefer walking cycling.
(1) with
(2) than
(3) to
(4) from
Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 4, Option ID : -612

Question ID:- 154

Fill in the blank with the correct preposition.

How can you prevent him doing things in his own way ?
(1) off
(2) for
(3) with
(4) from
Options:-

.1, Option ID :- 613,
. 2, Option ID :- 614,
. 3, Option ID :- 615,
. 4, Option ID :- 616,
Answer Given:- 2, Option ID : -614

Question 1D7-155

Choose the correct tense form from the following options.

They will be leaving for the US next month.

(1) Present Continuous
(2) Future Continuous
(3) Future Perfect Continuous
(

4) Future Perfect
Options:-

.1, Option ID :- 617,
. 2, Option ID :- 618,
. 3, Option ID :- 619,
. 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156




Choose the correct tense form from the following options.
He will have finished reading the novel by the time you meet him.

(1) Future Indefinite

(2) Past Perfect

(3) Future Perfect Continuous
(4) Future Perfect

Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157

Change the following sentence from Direct Speech into Indirect Speech.
"When will the train arrive ? the passenger said to the guard.

(1) The passenger asked the guard when will the train arrive ?
(2) The passenger asked the train when would the train arrive.
(3) The passenger asked the guard when the train would arrive
(4) When the train would arrive the passenger asked the guard.
Options:-

.1, Option ID :- 625,

. 2, Option ID :- 626,

. 3, Option ID :- 627,

. 4, Option ID :- 628,

Answer Given:- 4, Option ID : -628

Question 1D>-158

Change the following sentence from Direct Speech into Indirect Speech.
‘Did you like my poem ?’ the poet said to the reader.

(1) The poet asked the reader had he liked his poem.

(2) The poet asked the reader if he had liked his poem.

(3) Had he liked his poem the poet asked the reader.

(4) The poet asked the reader if he had liked his poem ?
Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,
. 3, Option ID :- 631,
. 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159




In the following sentence, identify the part which contains the error.
The government / has launched / many schemes / to help poor.

(1) (2) (3) 4)

Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 4, Option ID : -636

Question ID:- 160

In the following sentence, identify the part which contains the error.
The feeble, old man / is too weak / not to / walk.

(1) (2) (3) (4)
Options:-
.1, Option ID :- 637,
. 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Question ID:- 161

In the following sentence, choose the word nearest in meaning to the given word.
ACCORD

(1) agreement
(2) discord
(3) unanimity
(4) consensus
Options:-

.1, Option ID :- 641,

. 2, Option ID :- 642,

. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

In the following sentence, choose the word nearest in meaning to the given word.
PRECARIOUS

(1) pessimistic
(2) tragic

(3) risky
O%Lt?ons:-scarce

.1, Option ID :- 645,




. 2, Option ID :- 646,
. 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 3, Option ID : -647

Question ID:- 163

Choose the word opposite in meaning to the given word.
DIFFIDENT
(1) Optimistic
(2) Stupid
(3) Aggressive
(4) Confident
Options:-
.1, Option ID :- 649,
. 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

Identify the part of speech of the underlined word.

One must analyse all aspects of an issue before coming to a decision.

(1) Noun

(2) Adverb

(3) Verb

(4) Pronoun
Options:-

.1, Option ID :- 653,
. 2, Option ID :- 654,
. 3, Option ID :- 655,
. 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165

Identify the underlined clause in the given sentence.

I presume that he is a dishonest person.

(1) Principal Clause
(2) Noun Clause

(3) Adjective Clause
&pt}onszf\dverb Clause

I

.1, Option ID :- 657,
. 2, Option ID :- 658,




. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 4, Option ID : -660
Subject : GH_Q16-

Q30 _PRTMUSIC

uestion 1D:- 166 _
TREIYT 1 UEHL 39 W SAHIRE T &1 T2l IR o, :

T TR & FHER T3 1 e 1 THAE HROT T € | S 3 o o §gd eyl ¢ |
o=l &1 € o it | o 931 ol 2 o 19 1 T8 € | SRR Ak e T He famrEt o e

T A € | TRE S aeie % e TR-TEelt % fory eavaess STl % fawHl ey serwt €
Toame Jra ax-9¢ =1 qerr &1 9reag € fam €

TRl g YR % SUH & faRee & oy SSw € 2
(1) YRR

(2) = F ATEY
(3) SgERT
(4) &

Options:-

.1, Option ID :- 661,
. 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167
Trefafad Teie #1 9eHt 39 W ARG U9 &1 Felsh S aiely, ;

HUEEiEE THER € SHER TS i AT $ UHHE HROT A6 2 | S o e off 9gd eyl ¥ |
o= &1 € o SfifS | & 93 sl 3 o TG 1 6 ¢ | SRR ok e o w6 famrEl o e

TR I § | RIE S0 S % SR SR-Tewel % T STevaes Susll & Rl s oA ST & |
Toame ara aR-a¢ =1 qemT &1 9reag € fam g

Tl fFE YR % SUFl % TR &1 ey Sewd € 2
(1) YRYfER

(2) o F ATEY
(3) SgERT
(4) =

Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665




Question ID:- 168

Frefafad Ty &1 TRt 39 W HRa J99 #1 Feis W et

TG THER & THER U5 i el qdal H1 THAT R 76 ¢ | 396 o iy off 9gd "yl |
fomm=i &1 € o SfifSe | & IS i 2T % WIEE T T8 ¢ | SRSeTR ok e T Heed famrt o e

T I § | PRI S0 S9ie % SR SR-Tewell o fou sievaes Syl % faRaEl s e Sewd €
foame dra ax-a¢ =1 qer & 9ed € fam €

Tl o YR % SUSHU  famTa 1 @Y Ser € 2
(1) 9RYRER

(2) @ F ATE

(3) SwERT

(4) me

Options:-

.1, Option ID :- 669,

. 2, Option ID :- 670,

. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

PN " N-—4-20
QUESUHOINT 1o .- 169

Frefafad Ty &1 TRt 39 W HRa Y99 &1 Feish S aifad

T TR & THER U5 i TR 1 THAE HROT T § | S 3T ey o Sgd eyl ¢ |
o &1 & & SfifSw | & 93l il 3T o WU 1 AR € | SRR qaek e T Hee fammei o e

TR 3 ¢ | TR o797 Soie % e sR-Terdl & oy STeygs Sushiol % =l &1 oy Sardt ¥
foams dr sr-ay =1 qem 1 g g fae 2

TRl fohd YR % SUFI & oo &1 oy SSw € 2
(1) 9RYfER

(2) @S F STEY

(3) SwEFd

O%t?ons::q%ﬁ

.1, Option ID :- 673,
. 2, Option ID :- 674,
. 3, Option ID :- 675,
. 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170




Frefafaa Ty 1 Tew 39 W SHRa W9 1 Geld S ST

HEEMiEE THER € GHER G5 i ARFd S THHE HR T 8 | S S o1 o 9gd Heegl €
ool =1 2 o ST 3 S Y T % W O e | SSTR gaek e T ded fagme w5 e
T I § | EfOE S0 e % I R TR-TEwl % fAu savaes Susll % S @ ey Sew #
foame A sR-9¢ T T 1 7y € A 7

Frfafad # 998 9 /T s ©
(1) T
(2) fed
(3) @9y
(4) wifas
Options:-

.1, Option ID :- 677,
. 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171

Trfafed § adt =i gfe § o19gs = 2 -
(1) Hen-wen
(2) ©mE
(3) sfe
(4) ==
Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question 1D:-172
~

frefafed o s seg o §
(1) enfe-3id

(2) STHI-3TSR

(3)  SAHATGT-GUT

O&()Lt?ons:311?{_3?&I

.1, Option ID :- 685,
. 2, Option ID :- 686,
. 3, Option ID :- 687,




. 4, Option 1D :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

(1) dcged |a™
(2) FHYRE HHH
(3) 57 WA

(4) =gl g9

Options:-

.1, Option ID :- 689,

. 2, Option ID :- 690,

. 3, Option ID :- 691,

. 4, Option ID :- 692,

Answer Given:- 1, Option ID : -689

Question ID:- 174

Trefafaa & A1’ wse 1 w@iEeE! 7@ E
(1) Had

(2) ®EH
(3) FEA
(4) fem
Options:-

.1, Option ID :- 693,
. 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 1, Option ID : -693

lectinn 1D:- 175

§:+WW¢THTH%:
(1) SR
(2) YA
(3) FWwEM

4
O(pt?ons:-

.1, Option ID :- 697,
. 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697




Question ID:- 176

Frfafed § agva ves 76 ® -
1) W
(2) wHEA
(3) &
(4) @
Options:-

.1, Option ID :- 701,
. 2, Option ID :- 702,
. 3, Option ID :- 703,
. 4, Option ID :- 704,
Answer Given:- 3, Option ID : -703

Question ID:- 177

Trafafaa & qod e 78 @ -
(1) &
(2) &~
(3) I3
(4) 3
Options:-

.1, Option ID :- 705,
. 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question1D:--178
QuesHon+-1fo

‘IR W R T era W w9 §
(1) 7rerd T& S
(2) HrE @

(3) ISR qETe[ | T

(4) SAYF K1 TG HEAT
Options:-

.1, Option ID :- 709,
. 2, Option ID :- 710,
. 3, Option ID :- 711,
. 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Question ID:- 179




Tr=fafad § stfaares 991 s 781 & :

(1) =3I™=
(2) R
(3) WIS
(4) T
Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 4, Option ID : -716

Question ID:- 180

Frefafad 5 s/ %

(1) TSRt eqan 9 &1 S Hh — FHedAE

(2) TomeRt o 9 &1 51 9k - A

(3) Tt avi 7 T <1 9 - SR

(4) Tom o favam 7 fman s weh - sAfavasHa
Options:-

.1, Option ID :- 717,

. 2, Option ID :- 718,

. 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719

Subject : GKCA_Q31-

Q50 PRTMUSIC

Question ID:- 181

Who among the following was awarded a one-time Sangeet Natak Akademi Amrit Award under
Azadi Ka Amrit Mahotsav (AKAM) in the field of Nata Sankirtana ?

(1) Ng Salmon

(2) Anant Mahapatra
(3) Ananda Bag

(4) Y. Jatra Singh

¢ HhldA h AT H ATSG H FYd HeloHd (AKAM) % Fdld THawi Giitd e SeheH JEEhR
Trefafad 9 9 8 yem fohan T 2

(1) 1 HeHHA
(2)  3THd HerdT
(3) HFE AT

(4) 9. S fae




Options:-

.1, Option ID :- 721,
. 2, Option ID :- 722,
. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 1, Option ID : -721

Question ID:- 182

The Supreme Court of India laid down the guidelines to prevent sexual harassment at work place
in which of the following landmark judgements ?

(1) Vishakha and others versus State of Rajasthan
(2) Shayara Bano versus Union of India

(3) Nirbhaya versus NCT Delhi

(4) Aruna Shanbaug versus Union of India

A o F=qq e 1 fefafed | 9 fFg tfaefas o § seiem w) e saiea @ famm & fag
fen-frdw Fuif forg €2

(1) Toemar AR s FAH TSRYIH T

(2) HER A S 9Rd 9

(3) Taefen s Uity TSee & (NCT) feeedt

(4) STEUT ST S GRA G

Options:-

.1, Option ID :- 725,

. 2, Option ID :- 726,

. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 1, Option ID : -725

Q Jestion 1D:-183

Which of the following species is known as the ‘“Tiger of the Ganges’ and is an acquatic eco-system
indicator species ?

(1) Asian small-clawed Otter
(2) Eurasian Otter

(3) Gangetic River Dolphin
(4) Salt water crocodile

frfafed § 9 form wefa 171 1 2R’ Fel S § 3R 98 U Seld qRyel Sohdesh Jeifd § 2
(1) TRTEE Sl T8 e Jel Sedaa

(2) FfweE FEfaem

(3) TN el AT Sifew

(4) @R YHEl AT R




Options:-

. 3, Option ID
. 4, Option ID

.1, Option ID :-
. 2, Option ID :-

729,
730,
- 731,
- 732,

Answer Given:- 3, Option ID : -731

Question ID:- 184

Match the countries in List I with their National Currency in List IL

Question ID:- 185

List I List II
(a) China (i) Real
(b) Brazil (i) Renminbi
(c) Belgium (iii) Euro
(d) Argentina (iv) Peso
Choose the correct answer from the list below :
(@) () (9 (d)
(1) (@), @), (), @
(2) @) (@), (i), @)
(3) (@), (@), (i) ()
(4) (), @), @) (@)

gEt-14 feu Tu 39 1 gei-110 8 & 7 3T T g8 % ey fiem S |
Tqeil-1
<

TE-11

(a) (i) fore
A (i) e
(d) 31@?2:!:!1 (i ) ﬁ-{:h
= &1 TS G 9 Fal I R FIA Qi
(@ (0 (o (4

(D) @), @) @) @
(2) (), @), (i), (@v)
(3) (i), (), (i), (@v)

Blons: @), @), (@), (i)

.1, Option ID :- 733,

. 2, Option ID :- 734,

. 3, Option ID :- 735,

. 4, Option ID :- 736,

Answer Given:- 4, Option ID : -736




Which among the following is the correct description of the book “How to Live Your Life” published
in 2022 ?

(1) Itis written by Ruskin Bond in the form of a letter of advice from the author to all the readers.
(2) Itis written by Bill Gates on the theme of pandemic prevention in future.

(3) It is written by Viola Davis as an autobiography of a Black woman in the USA.

(4) Itis written by Gita Piramal as a commentary on the extra-ordinary life of Rahul Bajaj.

o 2022 § yerifyE TEw ‘ed 2 g 9r oRw’ & 9R ® frefataa § & a9 T 9o ad g2
(1) 39 Iewa ais 5 e | os 1 Th THY 99 % w9 H fown 7 §

(2) =9 foe e gr wfasr § qemr § 999 & o W) fom o ®

(3) =4 fasiion efog 50 g w0 U H U 2rvdd Afeen F1 oTeashen & w9 § forn o §
(4) 39 T FTRmE 510 Uga FSS o STHINRU] Siiad W Uk 21! o &9 H foran 7 §
Tt(ljop;:;n ID :- 737,

. 2, Option ID :- 738,

. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 1, Option ID : -737

Question ID:- 186

According to the Indian Constitution, who among the following can be removed from office by a

resolution of the Rajya Sabha passed by a majority of the then members of Rajya Sabha and agreed
to by the Lok Sabha ?

(1) The President of India

(2) The Speaker of Lok Sabha

(3) The Vice-President of India

(4) The Deputy Chairman of Rajya Sabha

A = HiayE & AR f=fafaa § 9 f58 599y & T8 S6ed 510 391 98 § g2/ o1 9ahdl © ford
TG o AehTel G9E Tl & sigad 9 i foan o @ oiR forad eiragen gevd ©

(1) a1 wgafa

(2) WHHH AR

(3) YR 1 Y-

0(51? TSI ] I9-H9Hfd
tions:-

.1, Option ID :- 741,
. 2, Option ID :- 742,
. 3, Option ID :- 743,

. 4, Option ID :- 744,
Answer Given:- 3, Option ID : -743




Question ID:- 187

James Mill in his famous book ‘“The History of British India” divided the Indian history into which
three periods ?

(1) Ancient, Medieval, Modern
(2) Pre-British, British, Post-British
(3) Hindu, Muslim, British

(4) Vedic, Buddhist and Mughal

S firer 3 st Wi e i Rt st fafewr e’ § wiRd % sfe 1 R A el § wier?
(1) WH=EH, g, sYfs
2) gd-fafew, fafew, Tea-fafew
(3) Teg. gfwm, fefew
(4) few, g, T
Options:-
.1, Option ID :- 745,
. 2, Option ID :- 746,
. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 3, Option ID : -747

Which of the following statements is not correct about the Bretton Woods System ?

(1) International Monetary Fund and World Bank were established as Bretton Woods Institutions.
(2) The system was based on fixed exchange rates for national currencies.

(3) The American Dollar under this system was pegged to the British Pound at a fixed rate.

(4) The system emerged in the post-Second World War era.

27 928 =ae F 9 § frafafed § & #5991 wee w8 6w 202

(1) g gerhm iR fava o &t Tv o2 989 Xy & ®9 H &l T |

(2) I HaEen U gEisll & fag Fivem faftma @ w smafa o

(3) TH el % Hcrid A eler fafe wise % e usw fAfvea fafawa 5T 3 dwr gan an
d&)onszﬁmwmﬁwg@%aﬁﬁaﬁaaﬁml

.1, Option ID :- 749,

. 2, Option ID :- 750,

. 3, Option ID :- 751,

. 4, Option ID :- 752,
Answer Given:- 4, Option ID : -752

Question ID:- 189




Consider the following statements :

(a) The first known printing press in Europe was developed by Gutenberg in England.
(b) The first book printed by the Gutenberg Printing Press was the Bible

Choose the correct answer from the codes below :

(1) (a) is correct but (b) is wrong

(2) (a) is wrong but (b) is correct

(3) Both (a) and (b) are correct

(4) Neither (a) nor (b) is correct

Frefafad wye W= faar i

(a) I H vgel 7 Ul I i grefe | et gru fasfaa foan
(b) T Tt 9w g gfed veel g asfee o |

e feu 7T 2§ HE I H T FHIfC

(1) (a) &l & fohg (b) 7T &

(2) (a) 7T ® fohg (b) TET @

(3) (a) ¥R (b) S Tl &

(4)  (a) ¥R (b) B H ¥ HE T T T

. 2, Option ID :- 754,

. 3, Option ID :- 755,

. 4, Option ID :- 756,
Answer Given:- 3, Option ID : -755

Which micro-organism causes the plant disease Citrus canker ?

(1) Fungi

(2) Bacteria
(3) Virus

(4) Protozoa

o gemsita % wRU fagg FaR T ey I 21 7 2
(1) =Fa%
(2) fETy
(3) fommy
d&}ons:m‘%ﬂ

.1, Option ID :- 757,
. 2, Option ID :- 758,




. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 3, Option ID : -759

Question ID:- 191

The process of fusion of male and female gametes is called :

(1) Fusion

(2) Pollination
(3) Fertilization
(4) Stamens

TR iR GRI gIIER % GEET FH1 R P Ferd § 2
(1) HHHA

(2) 9T
(3) Tau=m
(4) YW
Options:-

.1, Option ID :- 761,
. 2, Option ID :- 762,
. 3, Option ID :- 763,

. 4, Option ID :- 764,
Answer Given:- 3, Option ID : -763

Ouestion1H-—-—192
utston1o—197

What is the octal equivalent of decimal number 16 ?

(1) 9

2) 20
(3) 18
(4) 88

TIHEE HET 16 %1 T=THR TAqed 9@ HF W § ?

1 9
(2) 20
(3) 18

dﬁ‘i}ons:8 8

.1, Option ID :- 765,
. 2, Option ID :- 766,
. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 2, Option ID : -766




Question ID:- 193

Who has received the 2022 Tyler prize for Environmental Achievements ?
1) Greta Thunberg

(
(2) Jane Goodall

(3) Saalumarada Thimmakka
(4) Sir Andy Haines

Ny

e HeiHt Suefeui o faw 2022 #1 2EER YEEHR (Tyler prize) 78 faen ?
(1) ¥ o=

(2) SH e

(3) HIIHIET fermaren
(4) HUSI EEH
Options:-

.1, Option ID :- 769,
. 2, Option ID :- 770,
. 3, Option ID :- 771,
. 4, Option ID :- 772,
Answer Given:- 1, Option ID : -769

Fa ' 1D--104
ucsuuimrTo .= 195

In which of the following countries an Indian Origin Leader became the Prime Minister in December
2022 ?

(1) Israel

(2) United Kingdom
(3) Ireland

(4) Brazil

femmr, 2022 ¥ Frefafed § 9 fore <91 1 gumsE REE 96 &1 3q a1 8 ?
(1) FRES

(2) FAEeE fhTeH
(3) IS
ilons T

ns:-

.1, Option ID :- 773,

. 2, Option ID :- 774,

. 3, Option ID :- 775,

. 4, Option ID :- 776,

Answer Given:- 1, Option ID : -773

Question ID:- 195




What was the theme of the second United Nations World Geospatial Information Congress
(UNWGIC) held in Hyderabad from 10 - 14 October 2022 ?

(1) “Geo-Enabling remote Villages across the World”

(2) “Geo-Enabling Global Villages : Several Villages, One Earth”

(3) “Geo-Enabling the Global Village : No one should be left behind”
(4) “Geo-Enabling the Global Village with Alpha Generations”

BEUER H 10 - 14 3T, 2022 H T g0 RS A9 doe fearafoae ShiHeH &g (UNWGIC) &
of i 1 o ?

(1) ol wifser fdre foeiforg swhm fe aes

(2) fori s weea faafss : Seaa fawfas om e
(3) ‘‘fori wfeen fe eiea faers 39 g ot o farEs”
(@) foE wifse g weee faers fag siew s

Options:-
.1, Option ID :- 777,

. 2, Option ID :- 778,
. 3, Option ID :- 779,

. 4, Option ID :- 780,
Answer Given:- 3, Option ID : -779

Question ID:-196

Ambikasuthan Mangad won the 2022, Odakkuzhal award for which of the following works ?
) Pranavayu

(1
(2) Rathri

(3) Sadharana Veshangal
(4) Jeevithathinte Mudra

HAftahT U= 7S F 2022 F slieagera rare o &m & foaw sftar € 2

(1) HmeEr

(2) Sl

(3)  HIHR AAATA
O%Lr?ons:- m 'ﬂ_ﬂ

.1, Option ID :- 781,
. 2, Option ID :- 782,
. 3, Option ID :- 783,
. 4, Option ID :- 784,
Answer Given:- 3, Option ID : -783

Question ID:- 197




Which of the following States won the UN-Habitat's World Habitat Awards 2023 for Slum
Upgradation Program ?

(1) Maharashtra

(2) West Bengal

(3) Himachal Pradesh
(4) Odisha

TN ATSIE 9 % fo g dfeeey aes 2face srare frfafed # | frg w52 3 sfiar 2
(1) Werre

A

(2) ufe=m S

(3) feur=e wew

(4) siifesm
Options:-

.1, Option ID :- 785,
. 2, Option ID :- 786,
. 3, Option ID :- 787,

. 4, Option ID :- 788,
Answer Given:- 2, Option ID : -786

Question ID:- 198

On January 1, 2023 Croatia replaced its historic currency with the Euro. Which currency was
used before shifting to Euro ?

(1) Kuna
(2) Krona
(3) Ruble
(4) Franc

01 ST, 2023 %1 shIfeEn = 7ot Ufaerfees a1 & M 9 g0 &1 A9 | G0 S99 9 98el I
I T Gg&T YA HLE oA ?

(1)

(2) 3T

(3) ®ad
()(pz)it}ons:jjﬁ"T

.1, Option ID :- 789,
. 2, Option ID :- 790,
. 3, Option ID :- 791,
. 4, Option ID :- 792,
Answer Given:- 2, Option ID : -790

Question ID:- 199




Who among the following won the first-ever silver medal for India in the World Blitz Chess
Championship held in Almaty, Kazakhstan in December 2022 ?

(1) Hanika Dronavalli

(2) Padmini Rout

(3) Koneru Humpy

(4) Soumya Swaminathan

fegar, 2022 7 ST, FemEwE H A acs feores =9 SfeHfem § wRd & foe geel I’ I7d 95%
frefafaa § | frem sfiar 2

(1) &fent Gromeeett

(2) vefH Ted

(3) wHA® BT

(4) e EnEeE
Options:-

.1, Option ID :- 793,
. 2, Option ID :- 794,
. 3, Option ID :- 795,

. 4, Option ID :- 796,
Answer Given:- 3, Option ID : -795

Question 1D:-200

Which among the following is the official Mascot of the FIFA Women’s World Cup scheduled to be
held in Australia and New Zealand in 2023 ?

(1) ‘Ettie’

(2) ‘Tazuni’

(3) ‘Hua Mulan’
(4) ‘Shume’

T 2023 H Al iR =JSicie # 2 I Wit dieen fova %9 #1 snfummiie gyst #n ¢ ?
(1) ‘T (Bttie)

(2) ‘WA’ (Tazuni)

(3) ‘g HAM' (Hua Mulan)

O&;Lr?ons:‘-@, (Shume)

.1, Option ID :- 797,

. 2, Option ID :- 798,

. 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 3, Option ID : -799

Subject : RA_Q51-Q70_ PRTMUSIC




Question ID:- 201

There is a certain relation between two given words on one side of : : and one word is given on
another side of : : while another word is to be found from the given alternatives, having the same
relation with this word as the given pair has. Select the correct alternative.

Push : Pull : : Floor : ?

(1) Roof

(2) Pillars
(3) Walls
(4) Window

"%WW@WW#W@WWE?@T’ '%wmwwﬁmwﬁlﬁﬁqw
faeredl H | g8 UH ¥ 1 F49 Hifse FSEeh! 39 veg 9§ 9@ Ha4 2 i1 fou 70 s & &= 8 2
eheil : Eia ;I ?

(1) =d

2) @™

(3) dEr

4) fasHi
Options:-

.1, Option ID :- 801,
. 2, Option ID :- 802,
. 3, Option ID :- 803,
. 4, Option ID :- 804,
Answer Given:- 4, Option ID : -804

Question ID:- 202

In a certain code language, if INACTIVE' is written as ‘NIACITVE'. How would “ORIENTAL’ be
written in that code ?

(1) TVNEITAP
(2) ORNEITAL
(3) ROIETNAL
(4) TVNIEATP

T Hia9d %2 91 H a9 INACTIVE &l ‘NIACITVE % €9 § foran S &, a1 ‘ORIENTAL’ i 39 e
wrur | forq wepr forean smem ?
(1) TVNEITAP
(2) ORNEITAL
(3) ROIETNAL
dhlons: TVNIEATP
.1, Option ID :- 805,
. 2, Option 1D :- 806,




. 3, Option ID :- 807,

. 4, Option ID :- 808,
Answer Given:- 3, Option ID : -807

Question ID:- 203

Four words have been given, out of which three are alike in some manner, while one is different.
Choose the odd one.

(1) Talking

(2) Swimming
(3) Running
(4) Jogging

=R v feu o ¥ o 9 v ot 9 feel w5 § 9 § SefE u we T 8 e v =
Hiferg |

(1) e

(2) R

(3) e

(4) H = =T
Options:-

.1, Option ID :- 809,
. 2, Option ID :- 810,
. 3, Option ID :- 811,

. 4, Option ID :- 812,
Answer Given:- 1, Option ID : -809

anctinn 1D:- 204

Piyush is facing South-West. He turns 135° in the anti-clockwise direction and then 225° in the
clockwise direction. Which direction is he facing now ?

(1) North-West

(2) West
(3) South
(4) East

His 1 e sfo-uftas #i @ik ¥ ) 9% e fewn § 135° = § ofr f 225° faqomerd fawn § 0ar &
319 391 T Ty fom =t e 22

(1) 3ST-ufv=H
(2) ufe=m
(3) wfam
Jkdons: T4

.1, Option ID :- 813,




. 2, Option ID :- 814,
. 3, Option ID :- 815,

. 4, Option ID :- 816,
Answer Given:- 2, Option ID : -814

Question ID:- 205

Mohit, Ravi and Jatinder are Bowlers, Ravi, Rajesh and Govind are Wicket-keepers, Mohit, Govind
and Rajesh are Batsmen and Ravi, Mohit and Rajesh are Fielders.

Who is Wicket-keeper and Batsmen but not Bowler and Fielder ?

(1) Mohit
(2) Govind
(3) Rajesh
(4) Ravi

THifed, o AR Sfay Tiears; Wa, Torw iR Tifas faskrewta; Hifed, e iR Tsw secrers 91 s,
Hifed ST TS &7 ¢ |

TH ¥ HIH fache IR a1 dectars ¢ fohg fearst $fR aerers 7e € 2

(1) Hifed
(2) Tfes
(3) T
(4) a
Options:-

.1, Option ID :- 817,
. 2, Option ID :- 818,
. 3, Option ID :- 819,
. 4, Option ID :- 820,
Answer Given:- 1, Option ID : -817

Question ID:- 206

There are two statements labelled Assertion (A) and Reason (R).
Assertion (A) : We prefer to wear white clothes in summer.

Reason (R) : White clothes absorb heat.

Mark your answer as per the codes given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.




g weA € T rfirener (A) iR @eh (R) % &9 § gwian 70 % -
sfueher (A) : 79 Tl § Wihg HUS B i WAl <d € |
e (R) : e HYS ST FI rad ¢ |

e feU 7T STe & SFTHR 3791 SR Sifehd whifeT

(1) (A) 3R (R) i, 1 € 3 (R) (A) F1 Tl Tl &
(2) (A) 3R (R) 3F T € fhg (R) (A) 1 TET Tedieor & &
(3) (A) T T iR (R) s79A

(4) (A) ¥9A T &R (R) 9

Options:-

.1, Option ID :- 821,

. 2, Option ID :- 822,

. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 1, Option ID : -821

Question ID:- 207

A question is given below, followed by two statements numbered I and II each containing some
information. Decide which of the statements are sufficient to answer the question.

Q: Raman’s salary is 60% that of Sachit’s salary ? What is salary of Raman ?
Statement I:  Sachit’s salary is Rs. 78000/-
Statement II: Raman’s salary and Sachit’s salary are in ratio 3 : 5

(1) The statement I alone is sufficient to answer the question while the statement II alone is not
sufficient to answer.

(2) The statement II alone is sufficient to answer the question while the statement I alone is not
sufficient to answer.

(3) Both the statement I and II together are necessary to answer the question.
(4)

Both the statement I and II together are not sufficient to answer the question.

= Ty fen e § fowes o wem-1 iR 11 feu e B f5eH wede § o S & T § 1 3 ol
ST foh HIF-T/ FUF T 1 A A o oI w1 272 |

:: T I A9 Wi & 909 o1 60 FRerd § | T w1 9ae foher € 2

wOF1:  Gfed o 99 78000/- 9T B |

HATI: T &F da9 IR Ffe@ & 9a7 &1 STU6 3 : 5 7|

(1) 3TFct HEF-1 & U9 &1 3T <A & oIl o & STafeh 37hel sheF-11 U9 &1 3L o1 o ol Jars
T 7

(2) Thel heM-11 & W9 &1 IW < & fol 7o § Safh 3Thel heM-1 79 & 3T e & fag v
BRI

(3) eheM-1 3R RM-II, S T1e fHers W9 &l TR <4 & foau e1avTs |

Ahlons THI-1 SR HI-11, 1 T ety off w97 1 I <7 o forg vy =i €1




.1, Option ID :- 825,
. 2, Option ID :- 826,
. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 4, Option ID : -828

Question ID:- 208

How many 4's are there which are neither preceded by 7 nor followed by 1 ?
2:,1,7,4'9 % % 1,3,4,8,5, 7, 3 1,43

(1 2

(2 3
(3) 4
4) 5

T fradend 4 e Ta w7 T e iR I H17 ?
DA 49 7 L LE485 T 145

1 2
(2) 3
(3) 4
4) 5

Options:-

.1, Option ID :- 829,
. 2, Option ID :- 830,
. 3, Option ID :- 831,

. 4, Option ID :- 832,
Answer Given:- 4, Option ID : -832

Ouest |nn 1D:--209
uestt =299

The following diagram shows the number of persons reading different books. Find the numbers of
persons who are reading exactly two books ?

Fiction —>» <— Novel

<— Autobiography
(1) 48
(2) 51
(3) 54

(4) 57




Frfafed i@ 37 =Aafei &1 @ & S 8 S STav-31e & 9ad ¢ | 39 At o+l 9@ 9
RIS St e T H & & U8 W & 2

FHreafis —> 4—311::111
Hifeed
3/
<—3TI'<"113591T
(1) 48
(2) 51
(3) 54
(4) 57
Options:-

.1, Option ID :- 833,
. 2, Option ID :- 834,
. 3, Option ID :- 835,

. 4, Option ID :- 836,
Answer Given:- 2, Option ID : -834

Question ID:- 210

Six friends A, B, C, D, E and F are sitting on the ground in hexagon shape facing outside and not
facing the centre of hexagon. ‘C’ is sitting second left of ‘B’. ‘D’ is immediate left of ‘B’. ‘A’ is
sitting between ‘E” and “F’. ‘A’ is sitting immediate left of ‘F’.

Who is sitting opposite to ‘A" ?

1)

H g NS

(

(2)
(3)
(4)

Ny

TE 51 A, B, C, D, E 3R F WSYS TR H IHF F5 i SR §g 7 Fleh died Fi AR Hg Hleh S WS
21°C’, "B’ % 91 3R TH WH WASTZ | ‘DY, B’ % THEH &8 AR ST | A, E' dU‘F F A= | 21 ¢ |
‘A’, ‘F' * THSH 918 TR &1 €|

‘A’ % G HH 3T § 2

(1) B
(2) C
3) D

Jptlons: =

.1, Option ID :- 837,
. 2, Option ID :- 838,
. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 4, Option ID : -840




Question ID:- 211

Six friends A, B, C, D, E and F visit NSS office on consecutive Mondays not necessarily in the same
order. ‘A’ visits the office a week before ‘E’. “C’ does not visit the office at second position. ‘B’ visits

the office after the visit of ‘F'. ‘D" visits the office on fifth Monday and is not preceded by B. Eis not
the last to visit the office.

Who, among them, is the last to visit the office ?

() E
(2) C
(3) B
(4) A

BT fa3 A, B, C, D, E 3R F AR SHaR] &1 T UF U9 (NSS) Siifthg o1 /1 & € fog 35t 9 | &
TE | A7, B H U T Uee SR S|l €1 °C T T W SR 6 S 71 B, F % §H % 915
T ST §1 ‘D’ Ui WA 1 AR STl § iR ‘B’ S99 UsheH et HIHaR i &l ol & | ‘E’ Ted
3 H AR =& s g

T B e 37 o ARy S &2
(1) E
(2) C
(3) B
(4) A
Options:-

.1, Option ID :- 841,
. 2, Option ID :- 842,
. 3, Option ID :- 843,
. 4, Option ID :- 844,
Answer Given:- 3, Option ID : -843

Question ID:- 212

In a given letter series, some of the letters are missing which are given in that order as one of the
alternatives below it. Choose the correct alternative.

no_ _nom.__0 0 00O

(1) nomomon
(2) nmoomnn
(3) moonmnm
(4) mononom




T & T 90 SfEen H $9 9l o € foe - fou e us fasey % w9 H 36 wH § o T ¥ | we fawe
1 = HIfT |

no_ _nom__0_0_0_0

(1) nomomon

(2) nmoomnn

(3) moonmnm

(4) mononom

Options:-

.1, Option ID :- 845,
. 2, Option ID :- 846,
. 3, Option ID :- 847,

. 4, Option ID :- 848,
Answer Given:- 1, Option ID : -845

Question ID:- 213

In a certain code language, ‘go for walk’ is written as “bin tin win’; ‘good for health” is written as
‘win cin pin’ and ‘good to walk’ is written as ‘pin bin fin’. How ‘health’ is written in that
language ?

(1) cin
(2) pin
(3) win
(4) bin

e HIa9d F2 9T H ‘go for walk’ i ‘bin tin win'® ®9 H 3R “good for health’ %] “win cin pin’ % &Y
T 3iR ‘good to walk’ il ‘pin bin fin’ % &9 H foran S 2, df ‘health’ 1 35 911 H fohg g feran
S ?

(1) cin
(2) pin
(3) win
(4) bin
Options:-

.1, Option ID :- 849,
. 2, Option ID :- 850,
. 3, Option ID :- 851,
. 4, Option ID :- 852,
Answer Given:- 4, Option ID : -852

Question ID:- 214




You are given three statements showing relationship followed by two conclusions, [ and II. Assuming
that the given statements are true, find out which conclusions is (are) definitely true ?

Statements : A=C=G, C>K=P, K=5<T
Conclusions I: A<P

II: S<C
If only conclusion I is true.

=

,\A,—\,\
= W N
S N N S

If only conclusion II is true.
If neither conclusion (I) nor (II) is true.
If both conclusions (I) and (II) are true.

A WY g o hee fau o € ok are < fremd 1 eiR 1 few o ¥ | = vrd gu fF feu o wem
Heq ©, U8 a1 Hifere fop i § frend fafved w0 9 9o 82

HUA : A=>C=G, C>K=P, K>5<T
FerT1: A<P
IM: S<C

(1) Fae fresd 199 €

(2) FHad ferd 119 &

3) Tremd1 eI d§ #E off g 7 &
(4) Tremd 1 i 1 €, oo ©

Options:-

.1, Option ID :- 853,
. 2, Option ID :- 854,
. 3, Option ID :- 855,

. 4, Option ID :- 856,
Answer Given:- 1, Option ID : -853

Question 1D:- 215
~

‘Px Q" means P is wife of Q, ‘'P+ Q" means P is son of Q, ‘P+ Q" means ‘P’ is husband of ‘Q" and
‘P— Q" means ‘P’ is mother of Q.

If ' B+D+C—A’, how ‘B’ is related to ‘A" ?

(1) Father
(2) Son
(3) Brother

(4) Uncle




PxQHRAGTF P, QH U & P+Q #AAZTF P, Q HF T, P+Q Wk e fd P, Q
H UG & AN P—Q 1 4 & fF P, 'Q Fi A B
G B+D+C—A’ @ A1“‘B HI'A’ J 1 Gy € 2

(1) foe
(2) 9
(3) WK
(4) ==
Options:-

.1, Option ID :- 857,
. 2, Option ID :- 858,
. 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 2, Option ID : -858

Question ID:- 216

Letters of the word given below have been jumbled up and each letter has been assigned a number.
Select the combination of numbers so that the letters as arranged accordingly will form a meaningful
word.

D E R P T C I
1 2 3 4 5 6 7
(1) 7461325
(2) 4671523
(3) 4321765
(4) 6347521

== feu U v1ee & 29a Sroqaftyd 8 U § 997 Yol 218K i Ush Hea AHifd i v B 1 SH e g9aeH
1 A it TorEeh SHER S1a7 1 SHafed fhy M W e Hei® I = |
D E R P T C 1

. 2 3 4 5 6 7
(1) 7461325

(2) 4671523

(3) 4321765

(4) 6347521

Options:-

.1, Option ID :- 861,
. 2, Option ID :- 862,
. 3, Option ID :- 863,
. 4, Option ID :- 864,
Answer Given:- 3, Option ID : -863

Question ID:- 217




Given below are two statements followed by two conclusions numbered I and II. You have to take
the given two statements to be true even if they seem to be at variance from commonly known
facts. Read the conclusions and then decide which of the given conclusions logically follows from
the two given statements.

Statements I : All men are educated.
Some men are foolish.
Conclusions : I: Some educated are foolish.
II: Some foolish are educated.

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Neither conclusion I nor II follows.
(4) Both conclusions I and II follow.

== 1 e fou T € ok e Fewd 1 3R 11 feu e 2 | s1ent SH1 i &1 96 5T € 91 d |H
Fa aedi 9 =1 2 9 7 €1 | Frewuf &t ufew 2R fee = fofa sifse fo = fou o freeel § & -3y
¥ feu v SHT oAl § aifdhes w9 9 ferear /e )

wmuA i gey ffem €
FOTENE T
fewd 1: oo fafya 9@ €1
I1: o qd fufam g

(1) e Freerd 1 Feperar &

(2) Haet Tremd 11 frerer @

(3) < freme 17 & Frewd 11 freperan @
@ freandt 1 ofR 10, ST e €

ptions:-

.1, Option ID :- 865,
. 2, Option ID :- 866,
. 3, Option ID :- 867,
. 4, Option ID :- 868,
Answer Given:- 4, Option ID : -868

Question ID:- 218

A word has been given, followed by four other words, only one of which can be formed by using
the letters of the given word. Find that word.

INTERNATIONAL
(1) TERMINAL

(2) RETENTION

(3) ORIENTAL

(4) TENSION




e W8 ez e € foraer oe 9 fosre fou o € f59d & fou 1o wisg & s1eri =1 WA w5k S 9Isg S
ST Rl 39 U5 1 A i |
INTERNATIONAL

(1) TERMINAL

(2) RETENTION

(3) ORIENTAL

(4) TENSION

Options:-

.1, Option ID :- 869,
. 2, Option ID :- 870,
. 3, Option ID :- 871,

. 4, Option ID :- 872,
Answer Given:- 2, Option ID : -870

Question ID:- 219

Chirag is son of Anita. Sameer is son of Vimla. Divya is sister of Sameer and Vimla is daughter of
Anita. How is Anita related to Divya ?

(1) Mother

(2) Sister

(3) Aunt

(4) Grandmother

Term, sriten =1 g3 ® 1 SR, fomen 1 9 2 | feem, TR &t 9o € dun faven, sian #t gt ® 1 ot
feen d s Gau 2

(1) Hra
(2) ==
(3) ==
(4) A
Options:-

.1, Option ID :- 873,
. 2, Option ID :- 874,
. 3, Option ID :- 875,
. 4, Option ID :- 876,
Answer Given:- 4, Option ID : -876

Question ID:- 220




Choose from the following diagrams, the one that depicts the correct relationship among the three
classes give below :

Cricket, Volley Ball, Games

(1)

(o) o
(4) @

Trfarfad a7 stal | 9 39 Iy S fou 7 dF ol & o9 Hey w6 gaiad 9 9 i & g

(1)
@ O
Optlons ‘

.1, Option ID :-
. 2, Option ID :- 878,
. 3, Option ID :- 879,

. 4, Option 1D :- 880,

Answer Given:- 4, Option ID : -880
Subject : CL_Q71-
Q80_PRTMUSIC

Question ID:- 221




Which of the following options is the most easily understandable language by a computer
system ?

(1) Binary language

(2) High level language

(3) Hexadecimal language
(4) Programming language

Treafafad § 9 = o1 faekeq fordt Sraget qonel g Haifas STamE § 9931 Sare |9 (efves) &2
(1) fezmeml w1 (Binary language)
(2) = &E 9T (High level language)
(3) HIgW SEE 9 (Hexadecimal language)
(4) YEfHET 9T (Programming language)
Options:-
.1, Option ID :- 881,
. 2, Option ID :- 882,
. 3, Option ID :- 883,

. 4, Option ID :- 884,
Answer Given:- 1, Option ID : -881

Question 1D:- 222

Identify the devices, that help a user to communicate with computer systems :
(1) RAM

(2) ROM

(3) Input and output devices

(4) Secondary storage devices

39 feard &1 veam Hifsw st forddt wHE #t FreE yonel | Ty § el Sl § ?
(1) ¥ (RAM)
(2) M (ROM)

(3) TAYE IR 3MEeYe feany
(4) Hhel B fearsy

Options:-

.1, Option ID :- 885,

. 2, Option ID :- 886,

. 3, Option ID :- 887,

. 4, Option ID :- 888,

Answer Given:- 1, Option ID : -885

Question ID:- 223




In computer terminology, Mbps stands for :

(1) Megabits per second
(2) Micro bits per system
(3) Megabits per scheme
(4) Micro bits per structure

P i Tegrae H Mbps &1 319 © :
(1) Megabits per second

(2) Micro bits per system

(3) Megabits per scheme

(4) Micro bits per structure
Options:-

.1, Option ID :- 889,

. 2, Option ID :- 890,

. 3, Option ID :- 891,

. 4, Option ID :- 892,
Answer Given:- 4, Option ID : -892

Question ID:- 224

The device UPS stands for :

(1) Unbroken Power System
(2) Undisturbed Power Supply
(3) Unbreakable Power System
(4)

4)  Uninterruptible Power Supply

7 Ty uy fearsy #1319 ¥ :

(1) Unbroken Power System
(2) Undisturbed Power Supply
(3) Unbreakable Power System

(4) Uninterruptible Power Supply
Options:-

.1, Option ID :- 893,
. 2, Option ID :- 894,
. 3, Option ID :- 895,
. 4, Option ID :- 896,
Answer Given:- 1, Option ID : -893

Question ID:- 225




Which of the following is most preferred port compared to other available options for High Quality
Audio-Video output from a laptop ?

(1) VGA
(2) LAN
(3) USB
(4) HDMI

T of9eid § 2R Fael sifedl-difedl seeye & fau 31 Iuasy fasmedl i qa1 § Haifs add e
HHAE?

(1) @ St T (VGA)

(2) WA T (LAN)

(3) ¥ uH sl (USB)

(4) TH S Uy & (HDMI)

Options:-

.1, Option ID :- 897,

. 2, Option ID :- 898,

. 3, Option ID :- 899,

. 4, Option ID :- 900,
Answer Given:- 3, Option ID : -899

Question 1D7-226

Which of the following is one of the standard file extensions of a music (audio) file ?
(1) jprg

(2) .doc
(3) .pdf
(4) .wav

ot wferes (efifedll) wiee 1 U 9Me e fawr fefafes § 9 =@ @ 82
(1) .jprg
(2) .doc
(3) .pdf
éé? .wav
tions:-
.1, Option ID :- 901,
. 2, Option ID :- 902,
. 3, Option ID :- 903,
. 4, Option ID :- 904,
Answer Given:- 2, Option ID : -902

Question ID:- 227




some other location in most of the MS office document is :
(1) Alt+c&Alt+v

(2) Cul+c&Ctrl+v

(3) Alt+v&Alt+c

(4) Cul+v&Ctrl+c

(paste)mﬁﬁﬁﬂaﬁwmmaﬁﬁ—m% 3
(1) Alt+c&Alt+v
(2) Col+c&Ctrl+v
(3) Alt+v&Alt+c
4) Cul+v&Cul+c
Options:-
.1, Option ID :- 905,
. 2, Option ID :- 906,
. 3, Option ID :- 907,

. 4, Option ID :- 908,
Answer Given:- 4, Option ID : -908

The most popular combination of short cut keys to copy some selcted text and paste the same at

HTehIY TH TF AR SgHe § $ 994 T T 2R &1 Hid (copy) F AR 34 ol 379 7 T

Question 1D:- 228

Which of the following is a popular Audio Editing Software ?

(1) McAfee
(2) Audacity
(3) AutoCAD
(4) Photoshop

Freafafed 4 4w iy sifedi-uifdn i #H a e ?
(1) McAfee

(2) Awudacity

(3) AutoCAD

4 Photosh
O(pt?ons:- OrOSTOP

.1, Option ID :- 909,
. 2, Option ID :- 910,
. 3, Option ID :- 911,
. 4, Option ID :- 912,
Answer Given:- 3, Option ID : -911

Question ID:- 229




Identify the type of cybersecurity attack from the following options, in which, malicious attackers
send messages pretending to be a trusted person or organisations to manipulate a receiver, ask
them to perform actions like installing a malicious file or software, or clicking a malicious link, or
divulging sensitive information, etc.

(1) Trolling
(2) Bullying
(3) Phishing
(4) Plagiarism

Frefafas fasmedl § 9§ HEaR Gia BRAY & YR i 89 ity fored fagugof ekl (e7ee)
ot wrashal (REER) ¥ e &3 & foaw u fovaraedr safa 21 e ae §8s 99 § it 38 U
Tagwgel e A1 HiRaT 3R w1 A1 fad guteyyl fos W faes w9 s1ga Sageie SHeRl s
amfe S %19 F & fo Faa T

(1) 2T (Trolling)

(2) Ffel (Bullying)
(3) T (Phishing)
(4) e (Plagiarism)
Options:-
.1, Option ID :- 913,
. 2, Option ID :- 914,
. 3, Option ID :- 915,

. 4, Option ID :- 916,
Answer Given:- 1, Option ID : -913

Ouectionl1D-—220
LutstaormnmTo.=—2z3oU

In the web browsing protocol, https, the s stands for

(1) Secure of secured

(2) Service or serviced

(3) System or software

(4) Structure or structured

39 FEfST USRI https H s 31 212 -
(1) Secure A secured

(2) Service ¥ serviced

(3) System ¥ software

d&}o e otructure Al structured

.1, Option ID :- 917,

. 2, Option ID :- 918,

. 3, Option ID :- 919,




. 4, Option 1D :- 920,
Answer Given:- 2, Option ID : -918

Subject : PRT_Music_Q81-

Q180_PRTMUSICQuestion ID:- 231

Author of Swaramela Kalanidhi :

(1) Bharata
(2) Ramamatya
(3) venkatamakhi
(4) Saranga Deva
T AN Y & A
(1) 9
(2) HATH
(3) dweHfE
(4) wRTed
Options:-

.1, Option ID :- 921,
. 2, Option ID :- 922,
. 3, Option ID :- 923,

. 4, Option ID :- 924,
Answer Given:- 4, Option ID : -924

The word “Laggi” is related to :
(1) Sruti

(2) Swara

(3) Raga

(4) Tala

v et fred Hafed ©
(1) A«

(2) *T

(3) T
d&}ons:m

.1, Option ID :- 925,
. 2, Option ID :- 926,
. 3, Option ID :- 927,

. 4, Option ID :- 928,
Answer Given:- 1, Option ID : -925




Question ID:- 233

Identify the raga commonly used in Hindustani and Karnatic music :

(1) Hamsadhwani
(2) Kamod

(3) Deshkar

(4) Ramkali

fegeart 3iR FAfes diita H FUER Ja T arel I &l 8=y, :

(1) BFE=H
(2) MR
(3) TEEHL
(4) THHRfA
Options:-

.1, Option ID :- 929,
. 2, Option ID :- 930,
. 3, Option ID :- 931,
. 4, Option ID :- 932,
Answer Given:- 1, Option ID : -929

Fa ' HD--2924
YUCSUuITmTo .= 205

Aroh and Avaroh is important for :

(1) Instrument

(2) Raga

(3) Sruti

(4) Tala

RIE &R s1alE forae fom smaws 8 2
(1) d=m

(2) W

(3) fd
dﬁ%}ons:m

.1, Option ID :- 933,
. 2, Option ID :- 934,
. 3, Option ID :- 935,
. 4, Option ID :- 936,
Answer Given:- 2, Option ID : -934

Question ID:- 235




Identify the musical form :
(1) Rupak

(2) Jhoomra

(3) Dhrupad

(4) Nyas

e 751 i TEHIAT ;
(1) 9=
(2) #AU
(3) U<
(4) —H
Options:-

.1, Option ID :- 937,
. 2, Option ID :- 938,
. 3, Option ID :- 939,

. 4, Option ID :- 940,
Answer Given:- 1, Option ID : -937

Question ID:- 236

The word “Alpatva” is related to :
(1) Tala

(2) Laya
(3) Raga
(4) Dhrupad
e e e S © 2
(1) dm
(2) <=
(8) W
(4
Options:-

.1, Option ID :- 941,
. 2, Option ID :- 942,
. 3, Option ID :- 943,
. 4, Option ID :- 944,
Answer Given:- 4, Option ID : -944

Question ID:- 237




Identify the That :

(1) Bilawal

(2) Bhupali

(3) Sohani

(4) Panjabi

oI Tl AT :

(1) foe@@

(2) el

(3) e

(4) SIS
Options:-

.1, Option ID :- 945,
. 2, Option ID :- 946,
. 3, Option ID :- 947,

. 4, Option ID :- 948,
Answer Given:- 4, Option ID : -948

Question ID:- 238

Select the total number of melas in Karnatic music :

(1) 52

2) 72

(3) 63

(4) 68

e Hiid § Hell o $el qeA g
(1) 52

(2) 72

(3) 63
B ®

.1, Option ID :- 949,
. 2, Option ID :- 950,
. 3, Option ID :- 951,
. 4, Option ID :- 952,
Answer Given:- 2, Option ID : -950

Question ID:- 239




Select the Tala from the following :
(1) Hindol
(2) Moorchana
(3) Brahma
(4) Paraj

freferfen § ¥ o = 9 ;
(1) fe<ia
(2) A
(3) M
(4) u
Options:-

.1, Option ID :- 953,
. 2, Option ID :- 954,
. 3, Option ID :- 955,

. 4, Option ID :- 956,
Answer Given:- 3, Option ID : -955

Question ID:- 240

(1) Tilwada

(2) Ragalap

(3) Pancham Sawari
(4) Thumri

A Gt 9 Gefea 9eg 1 Yeda
(1) faeraret

(2) AR

(3) = Ha
Sotons:

.1, Option ID :- 957,
. 2, Option ID :- 958,
. 3, Option ID :- 959,
. 4, Option ID :- 960,
Answer Given:- 3, Option ID : -959

Question ID:- 241

Identify the term related to creative music :




Peshkaras are related to :

(1) Swara
(2) Mela
(3) Tala
(4) Musical form
el foped Heaifd 2 2
(1) =&
(2) H&
(3)
(4) 9=
Options:-

.1, Option ID :- 961,
. 2, Option ID :- 962,
. 3, Option ID :- 963,

. 4, Option ID :- 964,
Answer Given:- 1, Option ID : -961

Question ID:- 242

Select the corresponding raga of Hindolam in Hindustani music :

(1) Malkauns
(2) Bilawal
(3) Kafi

(4) Todi

Tegeart diia § fe<iem T &1 ga-reHs 9 =1 g :
(1) WIe=hd

(2) oo«

(3) HIE

(4) difs
Options:-

.1, Option ID :- 965,
. 2, Option ID :- 966,
. 3, Option ID :- 967,
. 4, Option ID :- 968,
Answer Given:- 3, Option ID : -967

Question ID:- 243




Jababi paran is :

(1) One of the tala

(2) One of the mela

(3) One of the instrument
(4) One of the composer
Saifel T 8 ?

(1) T& dr

(2) T Ha

(3) U dr=I

(4) Ueh T=ARR
Options:-
.1, Option ID :- 969,
. 2, Option ID :- 970,
. 3, Option ID :- 971,

. 4, Option ID :- 972,
Answer Given:- 2, Option ID : -970

Question ID:- 244

Murchana means :

(1) Swara

(2) Laya

(3) Aroh and Avaroh
(4) Tala

(1) *R
(2) ==
(3) @B SR 3R
(4) qrd
Options:-

.1, Option ID :- 973,
. 2, Option ID :- 974,
. 3, Option ID :- 975,
. 4, Option ID :- 976,
Answer Given:- 1, Option ID : -973

Question ID:- 245




Select the layakari :

(1) Gram

(2) Ada

(3) Laxmi

(4) Basant

TAIHIL Bl ﬁﬁ'q :

(1) 9™

(2) oIS

(3) wfEw

(4) =
Options:-

.1, Option ID :- 977,
. 2, Option ID :- 978,
. 3, Option ID :- 979,
. 4, Option ID :- 980,
Answer Given:- 3, Option ID : -979

Question ID:- 246

Author of Sangeet Ratnakar :
(1) Saranga Deva

(2) Bharata

(3) Matanga

(4) Jaya Deva

HA TR o o
(1) vRIT<E
(2) wd
(3) |
(4) wPIRH
Options:-

.1, Option ID :- 981,
. 2, Option ID :- 982,
. 3, Option ID :- 983,
. 4, Option ID :- 984,
Answer Given:- 3, Option ID : -983

Question ID:- 247




Select the Achala Swara :

(1) Rishabha
(2) Gandhara
(3) Panchama
(4) Nishada
3= W H gAY
(1) fy
(2) TER
(3) W=
(4) frme

Options:-

.1, Option ID :- 985,
. 2, Option ID :- 986,
. 3, Option ID :- 987,

. 4, Option ID :- 988,
Answer Given:- 3, Option ID : -987

Question ID:- 248

Bahutva is related to :

(1) Swara

(2) Laya

(3) Tala

(4) Mela

a5 fFad geifia &2
(1) &

(2) <=

(8) e
O(;)Lt?ons:.-aa

.1, Option ID :- 989,
. 2, Option ID :- 990,
. 3, Option ID :- 991,
. 4, Option ID :- 992,
Answer Given:- 2, Option ID : -990

Question ID:- 249




Suladi Sapta Talas of Karnatic music is introduced by :
(1) Tyagaraja

(2) Ramadasa

(3) Purandara Dasa
(4) Syamasastri

e Hild 1 el T qrel &1 9i=gg feee femn ?
(1) TR

(2) THSH
(3) T TH
(4) wEAME
Options:-

.1, Option ID :- 993,
. 2, Option ID :- 994,
. 3, Option ID :- 995,

. 4, Option ID :- 996,
Answer Given:- 3, Option ID : -995

Question ID:- 250

In which raga the Komal Rishab is used ?

(1) Bhairav

(2) Malkauns

(3) Bilawal

(4) Bhupali

Fre ooy S =1 W H T3 B § 2
(1)

(2) HIEHE

(3) feaeras
O(r‘JLtgons:- )

.1, Option ID :- 997,

. 2, Option ID :- 998,

. 3, Option ID :- 999,

. 4, Option ID :- 1000,

Answer Given:- 1, Option ID : -997

Question ID:- 251




The grantha Ragmala is written by :

(1) Ramamatya
(2) Tansen
(3) Saranga Deva
(4) Matanga
T+ TRTHIEA] & G i @ 2
(1) THAT
(2) dTEA
(3) e
(4)
Options:-

.1, Option ID :- 1001,
. 2, Option ID :- 1002,
. 3, Option ID :- 1003,

. 4, Option ID :- 1004,
Answer Given:- 2, Option ID : -1002

Question ID:- 252

Author of Raga Vibhodha :
(1) Somanath

(2) Narada

(3) Bharata

(4) Matanga

T foraiter o ek whid & 2
(1) Hreay

(2) TR

(3) W
O(rf)it)ions:.f:ﬁrrI

.1, Option ID :- 1005,
. 2, Option ID :- 1006,
. 3, Option ID :- 1007,
. 4, Option 1D :- 1008,
Answer Given:- 4, Option ID : -1008

Question ID:- 253




Trinity means :

(1) 4
2) 6
3) 3
(4) 5
fefafe =1 219 -
1) 4
(2) 6
(3) 3
(4) 5
Options:-

.1, Option ID :- 1009,
. 2, Option ID :- 1010,
. 3, Option ID :- 1011,

. 4, Option ID :- 1012,
Answer Given:- 2, Option ID : -1010

Question ID:- 254

How many kinds of Nadas are there in Indian music ?
(1) 3

2) 6

3) 2

4) 5

TR | § fohae Wehr o g & 2
(1) 3

2) 6

3 2
Options:

.1, Option ID :- 1013,
. 2, Option ID :- 1014,
. 3, Option ID :- 1015,
. 4, Option ID :- 1016,
Answer Given:- 1, Option ID : -1013

Question ID:- 255




In ancient period how many types of Gramas are existed ?

(1) 3
2) 6
3) 5
4) 8

YEH & | fohdd R & U™ wiafed 92

1 3
(2) 6
3) 5
(4) 8
Options:-

.1, Option ID :- 1017,
. 2, Option ID :- 1018,
. 3, Option ID :- 1019,

. 4, Option ID :- 1020,
Answer Given:- 4, Option ID : -1020

Question ID:- 256

Identify the Grantha of Venkatamakhi :

(1) Natya Sastra

(2) Raga Vibodha

(3) Chaturdandi Prakasika
(4) Brihaddesi

dehediE % T =l TEHY :
(1) ez

(2) T faEy

(3) TwEUE YeHIH
O(rA)lgonszl-'%]%%FST

.1, Option ID :- 1021,
. 2, Option ID :- 1022,
. 3, Option ID :- 1023,
. 4, Option ID :- 1024,
Answer Given:- 1, Option ID : -1021

Question ID:- 257




Identify the popular Sarod player :
(1) Ustad Vilayat Khan

(2) Sumati Mutatkar

(3) Ustad Ali Akbar Khan

(4) Inayat Khan

Tfag TS 91EH H eI
(1) = faoma @

(2) FAMT FaTaER

(3) TR et e @i
(4) Gl

Options:-

.1, Option ID :- 1025,
. 2, Option ID :- 1026,
. 3, Option ID :- 1027,

. 4, Option ID :- 1028,
Answer Given:- 3, Option ID : -1027

Question ID:- 258

How many angas are there in Adi Tala of Karnatic music ?

(1) 6

2) 3

(3) 5

4) 7

FHTew Fiila § anfedae § foray s 8 &2
(1) 6

2) 3

(3) 5
Soons:”

.1, Option ID :- 1029,
. 2, Option ID :- 1030,
. 3, Option ID :- 1031,
. 4, Option ID :- 1032,
Answer Given:- 1, Option ID : -1029

Question ID:- 259




Select the period of Pandit Omkarnath Thakur :

(1) 1897

(2) 1624

(3) 1700

(4) 1802

qfed SRR 1Y 3  F9F H FHAT
(1) 1897

(2) 1624

(3) 1700

(4) 1802

Options:-

.1, Option ID :- 1033,
. 2, Option ID :- 1034,
. 3, Option ID :- 1035,

. 4, Option ID :- 1036,
Answer Given:- 1, Option ID : -1033

Question ID:- 260

How many matras are there in Jhap Tal ?

(1) 14
(2) 12
(3) 10
(4) 18
B9aTe ° o AT Bl € 2
(1) 14
(2) 12
(3) 10
O(;)lt?OI’ISZ;l 8

.1, Option ID :- 1037,
. 2, Option ID :- 1038,
. 3, Option ID :- 1039,
. 4, Option 1D :- 1040,
Answer Given:- 1, Option ID : -1037

Question ID:- 261




Identify the tala which has 8 matras :
(1) Rupak Tal

(2) Kaharwa Tal

(3) Dadra Tal

(4) Jhap Tal

8 AT B AT AT =l ST ;
(1) T9% a/a
(2) Heal aE
(3) T A
(4) ZO A
Options:-

.1, Option ID :- 1041,
. 2, Option ID :- 1042,
. 3, Option ID :- 1043,

. 4, Option 1D :- 1044,
Answer Given:- 2, Option ID : -1042

Question ID:- 262

Identify the Audava-Sampurna Jati raga :
(1) Bilawal

(2) Bhupali
(3) Multani
(4) Todi

sirea-wrgui Sfq T 1 TB=Y
(1) ToeEs
(2) fe

(3) HedH
(4) dife

Options:-

.1, Option ID :- 1045,

. 2, Option ID :- 1046,

. 3, Option ID :- 1047,

. 4, Option ID :- 1048,

Answer Given:- 1, Option ID : -1045

Question ID:- 263




The word “Chougun” is related to :
(1) Raga

(2) Swara
(3) Sruti
(4) Tala
vreg Frp " foras gty € 2
(1) @
(2) ¥
(3) A
(4) dre
Options:-

.1, Option ID :- 1049,
. 2, Option ID :- 1050,
. 3, Option ID :- 1051,

. 4, Option ID :- 1052,
Answer Given:- 4, Option ID : -1052

Question ID:- 264

The period of Faiyyaz Khan :

(1) 1702

(2) 1600

(3) 1886

(4) 1892
TS @l 1 9
(1) 1702

(2) 1600

(3) 1886

(4) 1892
Options:-

.1, Option ID :- 1053,
. 2, Option ID :- 1054,
. 3, Option ID :- 1055,
. 4, Option ID :- 1056,
Answer Given:- 1, Option ID : -1053

Question ID:- 265




Graha Swara means :

(1) Starting note

(2) Middle note

(3) Higher note

(4) Lower note

TE TR Y

(1) YRS &R

(2) HA R

(3) TRER

(4) HE®R
Options:-

.1, Option ID :- 1057,
. 2, Option ID :- 1058,
. 3, Option ID :- 1059,

. 4, Option ID :- 1060,
Answer Given:- 4, Option ID : -1060

Question ID:- 266

Sankeerna Jati means :

(1) 8

(2) 16

3) 9

4) 12

Hehiof Siifq =1 279 :
(1) 8

(2) 16

3) 9
O(r‘;lt?ons:;12

.1, Option ID :- 1061,
. 2, Option ID :- 1062,
. 3, Option ID :- 1063,
. 4, Option 1D :- 1064,
Answer Given:- 3, Option ID : -1063

Question ID:- 267




The anga “Laghu” is prominent in which system of music ?
(1) Karnatic music

(2) Western music

(3) Folk music

(4) Rabindra Sangeet

%E W Ea | o' ey’ ufag © 2

(1) AT i

(2) HET E

(3) R

(4) g Hid
Options:-

.1, Option ID :- 1065,
. 2, Option ID :- 10686,
. 3, Option ID :- 1067,

. 4, Option ID :- 1068,
Answer Given:- 1, Option ID : -1065

Question ID:- 268

Corresponding Mela of Marwa in Karnatic music :
1) GamakaKriya

2) Subhapantuvarali

3) Kharaharapriya

4) Sankarabharanam

YRET T % e el I FHAreer Hid o &1 & 2

(1) TEeRfwA
(2) gHUgEIa
(3) WA

0(4) _m‘amw
ptions:-

.1, Option ID :- 1069,
. 2, Option ID :- 1070,
. 3, Option ID :- 1071,
. 4, Option ID :- 1072,
Answer Given:- 4, Option ID : -1072

Question ID:- 269




How many Chakras are there in Purvanga part of 72 melakarta Scheme ?

(1) 10
2) 6
(3) 9
(4) 14

72 Hershd! s § gaiT ur # fha R % =% 81 € 2

(1) 10
(2) 6
3) 9
(4) 14
Options:-

.1, Option ID :- 1073,
. 2, Option ID :- 1074,
. 3, Option ID :- 1075,

. 4, Option ID :- 1076,
Answer Given:- 1, Option ID : -1073

Question ID:- 270

To which “That” the raga Ramkali belongs to ?

(1) Bilawal

(2) Todi

(3) Bhairav

(4) Kafi

T I forg o | Feifd § 2
(1) foeraa

(2) Tife

(3) =

(4) I

Options:-

.1, Option ID :- 1077,
. 2, Option ID :- 1078,
. 3, Option ID :- 1079,
. 4, Option 1D :- 1080,
Answer Given:- 1, Option ID : -1077

Question ID:- 271




Identify the kalyan That raga :
(1) Suddha kalyan

(2) Ramkali

(3) Malkauns

(4) Chandrakauns

FHET T2 T =l JgATY
(1) s ST
(2) UHH(A
(3) HIGThI
(4) =EHid
Options:-

.1, Option ID :- 1081,
. 2, Option ID :- 1082,
. 3, Option ID :- 1083,

. 4, Option ID :- 1084,
Answer Given:- 3, Option ID : -1083

Question ID:- 272

How many varieties of swara sthanas are used in 72 melakarta scheme ?
(1) 16

2) 10
3) 12
4) 9

72 Hefeshd! Arst1 § fora Wepr & TeEeH] ol TENT B § 2

(1) 16
2) 10
3) 12

Sptons:-

.1, Option ID :- 1085,
. 2, Option ID :- 1086,
. 3, Option ID :- 1087,
. 4, Option 1D :- 1088,
Answer Given:- 1, Option ID : -1085

Question ID:- 273




Plutamis a:

(1) one of Raga

(2) one of Composer

(3) one of Shadanga

(4) ome of Instrument

A T E 2
() wHI
(2) U E=AHR
(3) Wk HeEN
(4) H
Options:-
.1, Option ID :- 1089,
. 2, Option ID :- 1090,
. 3, Option ID :- 1091,

. 4, Option ID :- 1092,
Answer Given:- 1, Option ID : -1089

Question ID:- 274

How many matras are there in Khanda Jati ?
(1) 8

2) 5

3) 9

@) 12

@z wifq § fora aEm e 22
(1) 8

@) 5

3) 9
()(rjlt?ons:;lz

.1, Option ID :- 1093,
. 2, Option ID :- 1094,
. 3, Option ID :- 1095,
. 4, Option ID :- 1096,
Answer Given:- 2, Option ID : -1094

Question ID:- 275




Identify the 16 matra anga :
(1) Kakapadam

(2) Guru
(3) Plutam
(4) Drutam
16 | T %1 g ;
(1) <hTRY9IEH
(2) T*
(8) IH
(4) 7
Options:-

.1, Option ID :- 1097,
. 2, Option ID :- 1098,
. 3, Option ID :- 1099,

. 4, Option ID :- 1100,
Answer Given:- 1, Option ID : -1097

Question ID:- 276

How many matras the anga “Guru” has ?
(1) 10

2) 12

(3) 8

@) 7

e  fepaet e gt € 2
(1) 10

(2) 12

(3) 8
58,7

.1, Option ID :- 1101,
. 2, Option ID :- 1102,
. 3, Option ID :- 1103,
. 4, Option ID :- 1104,
Answer Given:- 3, Option ID : -1103

Question ID:- 277




Identify 14 matra tala from the following :

(1) Gaja Jhampa Tala
(2) Chitra Tala
(3) Farodast Tala
(4) Rudra Tala
Frefafed 5 | 14 760 916 1 we=
(1) TIsierg ard
(2) fo=a
(3) IS d
(4) g
Options:-

.1, Option ID :- 1105,
. 2, Option ID :- 1106,
. 3, Option ID :- 1107,

. 4, Option ID :- 1108,
Answer Given:- 3, Option ID : -1107

Question ID:- 278

Select the matras of Ada Chartal :

(1) 14

(2) 10

3) 9

4) 7

HTE] IRAT o A i I
(1) 14

(2) 10

3 9
e

.1, Option ID :- 1109,
. 2, Option ID :- 1110,
. 3, Option ID :- 1111,
. 4, Option ID :- 1112,
Answer Given:- 1, Option ID : -1109

Question ID:- 279




Pandit Debu Choudhary is famous for :

(1) Sarangi
(2) Tabla
(3) Sitar
(4) Harmonium
fed < =nuR forees fog gfeg € 2
(1) \RA
(2) dee
(3) faaR
(4) ERHIFEH
Options:-

.1, Option ID :- 1113,
. 2, Option ID :- 1114,
. 3, Option ID :- 1115,

. 4, Option ID :- 1116,
Answer Given:- 2, Option ID : -1114

Question ID:- 280

Identify the Bharat Ratna awardee from the following :
1) Pandit Ravishankar

2) Kudau Singh

3) Pandit Debu Choudhury

4) Pandit Shiva Kumar Sharma

TrefaEd § 9 IRA T YUK U &dl o1 989 ;
(1) dfed et

(2) Fa fHe
(3) Tdfed gg AUl

4 Yfed fore Har omi
ptions:-

.1, Option ID :- 1117,
. 2, Option ID :- 1118,
. 3, Option ID :- 1119,
. 4, Option ID :- 1120,
Answer Given:- 1, Option ID : -1117

Question ID:- 281




Sulfoktais a :

(1) one of musical form
(2) one of Tala

(3) one of Instrument
(4) one of Raga

AP F T ?

(1) U 9=l

(2) TH AA
(3) T ™
(4) TH T

Options:-

.1, Option ID :- 1121,
. 2, Option ID :- 1122,
. 3, Option ID :- 1123,

. 4, Option ID :- 1124,
Answer Given:- 3, Option ID : -1123

Question ID:- 282

Identify the Komal Rishabha raga from the following :
(1) Hamsadhwani

(2) Malkauns
(3) Bhairav
(4) Abhogi
Frefafed 5 9 e oy T #1 we=a
(1) =aeam
(2) TR
(3) @
(4) FAsf
Options:-

.1, Option ID :- 1125,
. 2, Option ID :- 1126,
. 3, Option ID :- 1127,
. 4, Option ID :- 1128,
Answer Given:- 3, Option ID : -1127

Question ID:- 283




Identify the komal gandhara raga from the following :

(1) Abhogi
(2) Bhairav
(3) Bilawal
(4) Bhupali
Trefafed § 9 Fma TR W #9891
(1) s
(2) S
(3) feerae
(4) et
Options:-

.1, Option ID :- 1129,
. 2, Option ID :- 1130,
. 3, Option ID :- 1131,

. 4, Option ID :- 1132,
Answer Given:- 2, Option ID : -1130

Question ID:- 284

Komal Nishad is equivalent to in Karnatic music :
(1) Suddha Nishad

(2) Kaisiki Nishad

(3) kakali Nishad

(4) Shatsruti Nishad

FHATeH Hild § HiFe 618 % S 6 W&
(1) s o=

(2) Hfafe femr

(3) wTRfa

(4) wegfd fme

Options:-

.1, Option ID :- 1133,
. 2, Option ID :- 1134,
. 3, Option ID :- 1135,
. 4, Option ID :- 1136,
Answer Given:- 1, Option ID : -1133

Question ID:- 285




Identify an equivalent raga of Purvi That in Karnatic music :
(1) Kalyani

(2) Todi

(3) Kamavardhani

(4) Harikambhoji

TFTesh Hid § ol U1 % SE & T il g
(1) e

(2) difs

(3) wHMaHF
(4) BREwmIfS
Options:-

.1, Option ID :- 1137,
. 2, Option ID :- 1138,
. 3, Option ID :- 1139,

. 4, Option ID :- 1140,
Answer Given:- 2, Option ID : -1138

Question ID:- 286

Sphuritam is a :

(1) one of Raga
(2) one of Gamaka
(3) one of Tala

(4) one of Yati

TEREH 7?2

(1) THW
(2) TFTHE
(3) TH A
O(F‘i)ions;_qa; qﬁl

.1, Option ID :- 1141,
. 2, Option ID :- 1142,
. 3, Option ID :- 1143,
. 4, Option ID :- 1144,
Answer Given:- 4, Option ID : -1144

Question ID:- 287




The raga Basant is :

(1) Shadava-Sampurna
(2) Audava-Audava
(3) Audava-Shadava
(4) Shadava-Shadava

AT S P 2
(1) w©TEd -

(2) dired - 3iied
(3) ofred - Weg

(4) Hred - gred
Options:-
.1, Option ID :- 1145,
. 2, Option ID :- 1146,
. 3, Option ID :- 1147,

. 4, Option ID :- 1148,
Answer Given:- 3, Option ID : -1147

Question ID:- 288

The raga Kamod belongs to :
(1) Kafi That

(2) Todi That
(3) kalyan That
(4) Bhairav That

T FwHE frad g g2
(1) THI A2

(2) ife a2

(3) A g1e

(4) 9E 9=
Options:-

.1, Option ID :- 1149,
. 2, Option ID :- 1150,
. 3, Option ID :- 1151,
. 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289




Medini jatiis a :
(1) Prabandha
(2) Tala

(3) Instrument
(

4) Composer

afeft sifa = &2

(1) To=

(2) A

(3) @

(4) TR
Options:-

.1, Option ID :- 1153,
. 2, Option ID :- 1154,
. 3, Option ID :- 1155,

. 4, Option ID :- 1156,
Answer Given:- 1, Option ID : -1153

Question ID:- 290

Identify the string instrument :
(1) Mridangam

(2) Sitar
(3) Pakhawaj
(4) Tabla
R T ] YeE ;
(1) #E™
(2) fEar
(3) HEES
(4) dden
Options:-

.1, Option ID :- 1157,
. 2, Option ID :- 1158,
. 3, Option ID :- 1159,
. 4, Option ID :- 1160,
Answer Given:- 2, Option ID : -1158

Question ID:- 291




Identify the popular Vocalist :

(1) Shiva Kumar Sharma
(2) Amjad Ali Khan
(3) Debu Chaudhury
(4) Girija Devi
UiHS T 1 e
(1) for gwm o
(2) emsIg sife @t
(3) =R
(4) frfen 2fa
Options:-

.1, Option ID :- 1161,
. 2, Option ID :- 1162,
. 3, Option ID :- 1163,

. 4, Option ID :- 1164,
Answer Given:- 4, Option ID : -1164

Question ID:- 292

Identify which is not a percussion Instrument ?
(1) Mridangam

(2) Veena
(3) Tabla
(4) Pakhawaj
Sl = el T € SHehl YEH :
(1) =™
(2) @om
(3) deet
(4) 9GES
Options:-

.1, Option ID :- 1165,
. 2, Option ID :- 1166,
. 3, Option ID :- 1167,
. 4, Option ID :- 1168,
Answer Given:- 2, Option ID : -1166

Question ID:- 293




Identify the famous Sarod player :
(1) Amjad Ali Khan

(2) Ravi Shankar

(3) Shiva Kumar Sharma

(4) Gangubai Hangal

g TiE aee Hi wEEy
(1) @R dfa @

(2) T o

(3) TerEgAR o

(4)  TETE &

Options:-

.1, Option ID :- 1169,
. 2, Option ID :- 1170,
. 3, Option ID :- 1171,

. 4, Option ID :- 1172,
Answer Given:- 2, Option ID : -1170

Question ID:- 294

Shadanga means :

(1) 8

(2) 6

(3) 12

(4) 10
TETH AT
(1) 8

(2) 6

(3) 12
()(rilt?ons:}O

.1, Option ID :- 1173,
. 2, Option ID :- 1174,
. 3, Option ID :- 1175,
. 4, Option ID :- 1176,
Answer Given:- 1, Option ID : -1173

Question ID:- 295




Chandra-kauns belongs to :
(1) Bilawal That

(2) Kafi That

(3) Kalyan That

(4) Bhairav That

Ty ey g § 2
(1) =ead 9@

(2) HIHI A=

(3) HEAT A

(4) @9

Options:-

.1, Option ID :- 1177,
. 2, Option ID :- 1178,
. 3, Option ID :- 1179,

. 4, Option ID :- 1180,
Answer Given:- 1, Option ID : -1177

Question ID:- 296

Identify the Samvadi Swara of raga Madhuwanti :
(1) Rishabha

(2) Gandhara
(3) Madyama
(4) Nishada

T HYEf w1 Hlfe @ &l @
(1) foy
(2) TFER
(3) wH=H
. TR

.1, Option ID :- 1181,
. 2, Option ID :- 1182,
. 3, Option ID :- 1183,
. 4, Option ID :- 1184,
Answer Given:- 4, Option ID : -1184

Question ID:- 297




Period of Vishnu Digambar paluskar :
(1) 1872

(2) 1762

(3) 1700

(4) 1960

Foron e qepeRt &1 99 :
(1) 1872

(2) 1762

(3) 1700

(4) 1960

Options:-

.1, Option ID :- 1185,
. 2, Option ID :- 1186,
. 3, Option ID :- 1187,

. 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

Period of Bhatkhande :

(1) 1900

(2) 1860

(3) 1800

(4) 1902
@S H1 99
(1) 1900

(2) 1860

(3) 1800

(4) 1902
Options:-

.1, Option ID :- 1189,
. 2, Option ID :- 1190,
. 3, Option ID :- 1191,
. 4, Option ID :- 1192,
Answer Given:- 4, Option ID : -1192

Question ID:- 299




Identify which is not a musical form :

(1) Thumri
(2) Tappa
(3) Jogiya

(

S Ug A1 A8l § 3HH! UgHHy

(1) AR
(2) Zoa
(3) ifir
(4) W
Options:-

.1, Option ID :- 1193,
. 2, Option ID :- 1194,
. 3, Option ID :- 1195,

. 4, Option ID :- 1196,
Answer Given:- 3, Option ID : -1195

Question ID:- 300

Vaggeyakara means :

(1) Dancer
(2) player

(3) Composer
(4) painter
AMIFHR A Y
(1) TFHR

(2) @

(3) THARR

(4) T
Options:-

.1, Option ID :- 1197,
. 2, Option ID :- 1198,
. 3, Option ID :- 1199,
. 4, Option 1D :- 1200,
Answer Given:- 2, Option ID : -1198

Question ID:- 301




How many matras misra jati has ?

1) 9
2) 7
(3) 4
4) 6
g wifq & fera=t AmEmd 2t € 2
1) 9
(2) 7
(3) 4
(4) 6
Options:-

.1, Option ID :- 1201,
. 2, Option ID :- 1202,
. 3, Option ID :- 1203,

. 4, Option ID :- 1204,
Answer Given:- 2, Option ID : -1202

Question ID:- 302

How many Varieties of Srutis are there in Indian music ?

(1) 22

(2) 19

(3) 18

4) 14

I Gt | fera wehR % gfa St € 2
(1) 22

2) 19

(3) 18
O(rz)ltgons::lzl

.1, Option ID :- 1205,
. 2, Option ID :- 1206,
. 3, Option ID :- 1207,
. 4, Option 1D :- 1208,
Answer Given:- 1, Option ID : -1205

Question ID:- 303




Ahir Bhairav belongs to :

(1) Bilawal That
(2) Todi That
(3) Bhairav That
(4) Kafi That
et e fored wwaifed € 2
(1) ToerEe ae
(2) dife are
(3) 9 9
(4) TR 9
Options:-

.1, Option ID :- 1209,
. 2, Option ID :- 1210,
. 3, Option ID :- 1211,

. 4, Option ID :- 1212,
Answer Given:- 3, Option ID : -1211

Question ID:- 304

Identify 7 Matra Tala from the following :
(1) Rupak Tal

(2) Jhap Tal
(3) Basant Tal
(4) Dhumali Tal
=1 9 9§ 7 9= 91 @ qg=e
(1) 9% q
(2) @9 T
(3) &Hd d
0(4) YAIfe Tt
ptions:-

.1, Option ID :- 1213,
. 2, Option ID :- 1214,
. 3, Option ID :- 1215,
. 4, Option ID :- 1216,
Answer Given:- 2, Option ID : -1214

Question ID:- 305




Identify the Gandhara of Asavari That :

(1) Suddha Gandhara
(2) Antara Gandhara
(3) Komal Gandhara
(4) Tivra Gandhara
SEER 912 % TMER &l T=y
(1) YsTHR
(2) A TFER
(3) HIFA TFER
(4) g TFER
Options:-

.1, Option ID :- 1217,
. 2, Option ID :- 1218,
. 3, Option ID :- 1219,

. 4, Option ID :- 1220,
Answer Given:- 1, Option ID : -1217

Question ID:- 306

Identify which is not a wind Instrument ?
(1) Flute

(2) Nagaswaram
(3) Gottuvadya
(4) Sahanai
1 g =T T ¥ e e -
(1) =R
(2) TTERH
@) g
(4) &R
Options:-

.1, Option ID :- 1221,
. 2, Option ID :- 1222,
. 3, Option ID :- 1223,
. 4, Option ID :- 1224,
Answer Given:- 1, Option ID : -1221

Question ID:- 307




Shankara raga belong to :

(1) Bilawal That

(2) kalyan That

(3) Todi That

(4) Kafi That

T S ferEd Tt €2
(1) ToermEe g

(2) =heHTIT A1

(3) difs =2

(4) HTHI U
Options:-

.1, Option ID :- 1225,
. 2, Option ID :- 1226,
. 3, Option ID :- 1227,

. 4, Option ID :- 1228,
Answer Given:- 1, Option ID : -1225

Question ID:- 308

Tyagaraja was familiar to :
(1) Karnatic music

(2) Rabindra Sangeet
(3) Folk music
(4) Haveli Sangeet
RS feraers forg whtg o ?
(1) wAeH |
(2) el Hia
(3) @R HId
(4) @afa Hitd

Options:-

.1, Option ID :- 1229,
. 2, Option ID :- 1230,
. 3, Option ID :- 1231,
. 4, Option ID :- 1232,
Answer Given:- 1, Option ID : -1229

Question ID:- 309




Raga Deshkar belongs to which That ?

(1) Todi

(2) Kamaj

(3) Bilawal

(4) Poorvi

T SR forg e | weafya ® 2
(1) difs

(2) @HS

(3) foeraa

(4) e
Options:-

.1, Option ID :- 1233,
. 2, Option ID :- 1234,
. 3, Option ID :- 1235,

. 4, Option ID :- 1236,
Answer Given:- 1, Option ID : -1233

Question ID:- 310

Select a That :
(1) Shankara

(2) Deshkar
(3) Jaijaiwanti
(4) kafi

(1) &
(2) <WE
(3) St
(4) TR
Options:-

.1, Option ID :- 1237,
. 2, Option ID :- 1238,
. 3, Option ID :- 1239,
. 4, Option 1D :- 1240,
Answer Given:- 1, Option ID : -1237

Question ID:- 311




Select a Yati from the following :
(1) Damaruka
(2) Sphurita
(3) Marga

(4) Andolita

frefafed | 9 =fa =1 gfu :
(1) THESH
(2) *FRa
(3) Hm
(4) AleIfad
Options:-

.1, Option ID :- 1241,
. 2, Option ID :- 1242,
. 3, Option ID :- 1243,

. 4, Option 1D :- 1244,
Answer Given:- 1, Option 1D : -1241

Question ID:- 312

Identify the Pancham Varjit raga :
(1) Durga

(2) Hamsadhwani
(3) Malkauns
(4) Charukesi
g9 afsd W H TEHIHT :
(1 g
(2) BHEEM
(3) WS
(4) =TEHTH
Options:-

.1, Option ID :- 1245,
. 2, Option ID :- 1246,
. 3, Option ID :- 1247,
. 4, Option 1D :- 1248,
Answer Given:- 2, Option ID : -1246

Question ID:- 313




Prakriti swaras are :
1) Pure notes

Common notes
Modified notes

Casual notes

(
(2)
(3)
(4)

yitpfa W Fn g ?
(1) w=EY ®R
(2) HTERU &Y
(3) UftEdd R
(4) ST =R
Options:-
.1, Option ID :- 1249,
. 2, Option ID :- 1250,
. 3, Option ID :- 1251,

. 4, Option ID
Answer Given

- 1252,
-4, Option ID : -1252

Question ID:- 314

Identify the popular Pakhawaj player from the following :

Answer Given

(1) Kudau Singh
(2) Babu Khan
(3) Hassu Khan
(4) Ravi Shankar
9= ° 9 yq@ wEeEs aes Sl 9=
(1) e fEe
(2) =g @H
(3) =H@EH
(4)  Tfereiet

Options:-

.1, Option ID :- 1253,

. 2, Option ID :- 1254,

. 3, Option ID :- 1255,

. 4, Option ID :- 1256,

-1, Option ID : -1253

Question ID:- 315




Atita graha is related to :

(1) Swara
(2) Raga
(3) Tala
(4) Laya
a1t 78 foFe | wweifed €2
(1) *R
(2) T
(8)
(4) <4
Options:-

.1, Option ID :- 1257,
. 2, Option ID :- 1258,
. 3, Option ID :- 1259,

. 4, Option ID :- 1260,
Answer Given:- 2, Option ID : -1258

Question ID:- 316

Prabandha is a :

(1) Musical Composition
(2) Raga

(3) Laya

(4) Instrument

T FE ?

(1) Hifid @

(2) T

(3) @4
()(FA)lEt?ons:--amzJ

.1, Option ID :- 1261,
. 2, Option ID :- 1262,
. 3, Option ID :- 1263,
. 4, Option ID :- 1264,
Answer Given:- 3, Option ID : -1263

Question ID:- 317




Two dots below the notes indicates in Indian music notation is known as :
(1) Mandra

(2) Anumandra
(3) Tara

(4) At Tara

IR Hiftd § w@fefy § €1 foeg @ & = = gied #73d € ?
(1) #==

(2) <gH=

(3) R

(4) @fd TR
Options:-

.1, Option ID :- 1265,
. 2, Option ID :- 1266,
. 3, Option ID :- 1267,

. 4, Option ID :- 1268,
Answer Given:- 1, Option ID : -1265

Question ID:- 318

Pakad is related to :
(1) Prabandha
(2) Musician
(3) Raga

(4) Tala

e fored grafid € 2
(1) a9y

(2) HItdRR

(3)
é&%enszm

.1, Option ID :- 1269,
. 2, Option ID :- 1270,
. 3, Option ID :- 1271,
. 4, Option ID :- 1272,
Answer Given:- 2, Option ID : -1270

Question ID:- 319




Identify which is not a raga ?

(1) Anahata
(2) Pooriya Dhanasree
(3) Hindol
(4) Chandrakauns
ST T T B IHH] T |
(1) red
(2) e sE
(3) fe<E
(4) ==HrH
Options:-

.1, Option ID :- 1273,
. 2, Option ID :- 1274,
. 3, Option ID :- 1275,

. 4, Option ID :- 1276,
Answer Given:- 1, Option ID : -1273

Question ID:- 320

Identify the sysmbol which is used for “Anudrutam” in Karnatic music ?
(1) j

2)
3

o)
) U
4 I

(
(
(

e Hiita H SFHgan & foru &F 91 fowg yar #3d € veenag 2
1)

2
3

4
O(pt?ons:-

.1, Option ID :- 1277,
. 2, Option ID :- 1278,
. 3, Option ID :- 1279,

. 4, Option 1D :- 1280,
Answer Given:- 3, Option ID : -1279

(1)
(2 ©
@) U
I

Question ID:- 321




Raga Chaya Nat belongs to which That ?

(1) Kalyan
(2) Kafi
(3) Todi
(4) Asavari
T =R 5 o § Hweid 8 2
(1) e
(2) TR
(3) e
(4) HER
Options:-

.1, Option ID :- 1281,
. 2, Option ID :- 1282,
. 3, Option ID :- 1283,

. 4, Option ID :- 1284,
Answer Given:- 1, Option ID : -1281

Question ID:- 322

Identify which is not a Tala ?

(1) Kumbh

(2) Sikhar

(3) Akshiptika
(4) Dhumali
(1) ™

(2) fermer

(3) AfErfteRt
O(;)lgons:-

.1, Option ID :- 1285,
. 2, Option ID :- 1286,
. 3, Option ID :- 1287,
. 4, Option 1D :- 1288,
Answer Given:- 4, Option ID : -1288

Question ID:- 323




Pandit Bhimsen Joshi belongs to which state ?
(1) Karnataka

(2) Kerala

(3) Tamil Nadu

(4) Andhra Pradesh

gfed igds Sty frg Tsg 9 Heifa €2
(1) HAleH

(2)

(3) dfFerTg

(4) STHYRY
Options:-

.1, Option ID :- 1289,
. 2, Option ID :- 1290,
. 3, Option ID :- 1291,

. 4, Option ID :- 1292,
Answer Given:- 1, Option ID : -1289

Question ID:- 324

Avartan is related to :

(1) Tala
(2) Swara
(3) Raga
(4) Gat
A ferad Heiferd &2
(1) A
(2) R
(3) T
(4) T
Options:-

.1, Option ID :- 1293,
. 2, Option ID :- 1294,
. 3, Option ID :- 1295,
. 4, Option ID :- 1296,
Answer Given:- 1, Option ID : -1293

Question ID:- 325




“Tukras” are related to :

(1) Percussion Instrument
(2) Vocal music

(3) Wind Instrument

(4) Folk music

TR0 s Heifia 82

(1) =1 3=

(2) A A

(3) HR =

(4) ok Hifid
Options:-

.1, Option ID :- 1297,
. 2, Option ID :- 1298,
. 3, Option ID :- 1299,

. 4, Option ID :- 1300,
Answer Given:- 1, Option ID : -1297

Question ID:- 326

Identify the Suladi Sapta tala of Karnatic music :
(1) Pancham Sawari

(2) Matya Tala

(3) Dhumali

(4) Deepchandi

e Hd o Gellie §9 d1a sl Jed1g
(1) 9=9 ¥Rk
(2) HSI A
(3) gfe
(4) <ro=EE]
Options:-

.1, Option ID :- 1301,
. 2, Option ID :- 1302,
. 3, Option ID :- 1303,
. 4, Option 1D :- 1304,
Answer Given:- 1, Option ID : -1301

Question ID:- 327




Select the “Bharat Ratna” awardee among the musicians from South India :
1) M.S. Subbulakshmi

2) M.S. Gopala Krishnan
3) Balamurali Krishna
4) S. Balachandar

Tfeqo) W Hiitaerl § 9Rd T Y0hd &l 9

(1) TH.TEgsatEE
(2) THTEIMOE R
(3) et fomom
(4) THSETER

Options:-

.1, Option ID :- 1305,

. 2, Option ID :- 1306,

. 3, Option ID :- 1307,

. 4, Option ID :- 1308,
Answer Given:- 1, Option ID : -1305

Question ID:- 328

Identify the popular Dhrupad singers from the following :
(1) Sitara Devi

(2) Gundecha Brothers

(3) Girija Devi

(4) Parveen Sultana

Trefafed 5 & 9fHs Y98 e - vg=i
(1) foaw efa

(2) T

(3) ffn gfa

0(4) T T

ptions:-

.1, Option ID :- 1309,
. 2, Option ID :- 1310,
. 3, Option ID :- 1311,
. 4, Option ID :- 1312,
Answer Given:- 2, Option ID : -1310

Question ID:- 329




Theka is popular in :
(1) Hindustani music
(2) Western music
(3) Karnatic music
(4) Dance music

a1 ford i 22

(1) Teg&rE i

(2) UETA Hiid

(3) HAleH |l

(4) T Hd
Options:-

.1, Option ID :- 1313,
. 2, Option ID :- 1314,
. 3, Option ID :- 1315,

. 4, Option ID :- 1316,
Answer Given:- 4, Option ID : -1316

Question ID:- 330

The dance form “Mohini Attam” belongs to :
(1) Andhra Pradesh

(2) Kerala
(3) Karnataka
(4) Tamil Nadu
Hifel e I At fFag gefim g 2
(1) 3AFY Tou
(2) A
(3) wAle®H
(4) dfHTg
Options:-

.1, Option ID :- 1317,
. 2, Option ID :- 1318,
. 3, Option ID :- 1319,

. 4, Option ID :- 1320,
Answer Given:- 3, Option ID : -1319




